Data Sheet
Total Power: Up to 4920 W
Input Voltage: 85 - 264 Vac
380, 440 Vac
120 - 300 Vdc
1-Phase
3-Phase
# of Qutputs: Upto 24

SPECIAL FEATURES

Full medical EN60601 approval*
Intelligent I2C control

Voltage adjustment on all outputs
(manual or I°C)

Configurable input and output OK
signals and indicators

Configurable inhibit/enable

Configurable output UP/DOWN
sequencing

High power density (12 W/cu-in)

Intelligent fan (speed control/fault
status)

uP controlled PFC input with active
Inrush protection

12C monitor of voltage, current, and
temperature

Programmable voltage, current limit,
inhibit/enable through 1°C

Optional extended hold-up module
(SEMI F47 compliance)

Increased power density to 150%
Optional conformal coating

Industrial temp range (-40 °C to 70 °C)
Uses standard iMP modules

Field upgradeable firmware

RoHS compliant

SAFETY

= UL UL60950/UL2601

= CSA CSA22.2 No. 234 Level 5

= UV EN60950/EN60601-1

= BABT Compliance to EN60950/
EN60601 BS7002

= CB Certificate and report

= CE Mark to LVD

*

Note: iVS8H does not have Medical or MOPP approvals.

Intelligent VS Power

Up to 4920 Watts

[ Bus}

over Managemen.

Defined.

Electrical Specifications

Input range iVS1 &iVS3 90 - 264 Vac 19; 120 - 300 Vdc
iVS6 & VS8 170 - 264 Vac 30
iVS8H 396 - 480 Vac rated at 4920 W DC output 3@
342 - 480 Vac rated at 4200 W DC output 3@
Frequency 47 - 440 Hz

Inrush current

40 A peak maximum (soft start)

Efficiency

Up to 85% @ full case load

Power Factor

0.99 typ. meets EN61000-3-2

Turn-on time AC on 1.5 sec typical, inhibit/enable 150ms typical Programmable;
50 ms internal turn-on delay (Dual Output only)
EMI Filter CISPR 22/EN55022 Level “B”. Level “A” for iVS8H

Leakage current

500 pA max. @ 240 Vac; 47-63 Hz

Radiated EMI

CISPR 22/EN55022 Level “B”. Level “A” for iVS8H

Holdover storage

10 ms minimum (independent of input Vac) additional 20 mSEC holdover
storage with optional HUP module (SEMI F47 compatible)

AC OK

> 5 ms early warning minutes before outputs lose regulation Full cycle ride thru
(50 Hz). Programmable

Harmonic distortion

Meets EN61000-3-2

Isolation

Meets EN60950 and EN60601
Meets 1 MOPP Primary to ground, 2 MOPP Primary to Secondary*

Global inhibit / enable

TTL, Logic “1” and Logic “0”; configurable

Warranty

3 years

A M T"ECSNSRANT

An Advanced Energy Company




iVS Data Sheet

Adjustment range*

+ 10% minimum all outputs (manual) (full module adjustment range using I°C)

Factory set point accuracy

1%

[>)C output program accuracy

+ 5%

Margining

+ 4 - 6% nominal analog (single output module only)

Overall regulation

0.4% or 20 mV max. (1500 W modules 1% max.)

Ripple

RMS: 0.1% or 10 mV, whichever is greater
Pk-Pk: 1.0% or 50 mV, whichever is greater
Bandwidth limited to 20 MHz

Dynamic response

< 2% or 100 mV, with 25% load step

Recovery time

To within 1% in < 300 psec

Overcurrent protection**

Configurable through I°C (calibration required). Single output module and main output of the dual output module
105 - 120% of rated output current. Aux output of dual output module 105 - 140% of rated output current.
Special programmable OCP delay on 1500 W module from 100 mSec to 25.5 seconds with shutdown features.

Short-circuit protection

Protected for continuous short-circuit.
Recovery is automatic upon removal of short (Shutdown mode on 1500 W module).

Overvoltage protection*

Configurable through 1?C

Single output module: 2-55V 122-134%;6-60V 110 - 120%

Dual output module: 2-6V 122-134%;8-28V 110 - 120%

Triple output module: 110 - 120% of highest voltage rating

Thermal protection*

Configurable through °C
All outputs disabled when internal temp exceeds safe operating range. > 5 ms warning (AC OK signal) before
shutdown

Remote sense

Up to 0.5 V total drop (not available on triple output module)

Single wire parallel

Current share to within 2% of total rated current

DC OK*

+ 5% of nominal. Configurable through °C

Minimum load

Not required

Housekeeping bias voltage

5 Vdc @1.0 A max. present whenever AC input is applied

Overall Regulation: + 5%

Ripple and Noise: 150 mV pk-pk, Bandwidth limited to 150 MHz and measured with 10 uF Tantalum capacitor and
0.1 uF ceramic capacitor in parallel on the output.

Module inhibit*

Configured and controlled through I°C

Output/Output isolation

> 1 Megohm, 500 V

* Can be controlled via I°C

** Controlled via I°C but requires load calibration (except 1500 W module)

Environmental Specifications

Operating temperature

-40 ° to 70 °C ambient. Derate each output 2.5% per degree from 50 ° to 70 °C. (-20 °C start up)

Storage temperature

-40 °C to +85 °C

Electromagnetic susceptibility

Designed to meet EN61000-4; -2, -3, -4, -5, -6, -8, -11 Level 3

Humidity Operating; non-condensing 10% to 95% RH

Vibration IEC68-2-6 to the levels of IEC721-3-2

MTTF field demonstrated > 550,000 hours at full load, 220 Vac and 25 °C ambient conditions
i - »




iVS Data Sheet

Output Module Line-up

Module Type Single Single Single Single Dual Triple

Max output power 210 W 360 W 750 W 1500 W 144 W 36 W

Max output current 35A 60 A 150 A 300 A 10A 2A

Output voltages available* 2-60V | 2-60V |2-60V |2-60V 8-156%,24-28;8-15%, 8- 15% 8-15,8-15,2-6;8-15,8-15,
8-15,2-6;2-6,2-6;24-28, | 8-158-158-15,18-28;8 - 15,

24 -28;24-28,2-6 18-28,2-6

Standard voltage increments 25 25 25 25 16 18

Remote sense Yes Yes Yes Yes Yes Yes No

Remote margin Yes Yes Yes Yes No No No

V-Program - 1?C Control Yes Yes Yes Yes Yes Yes No

Active Current Share Yes Yes Yes Yes Yes No No

Module Inhibit - °C Control Yes Yes Yes Yes Yes Yes Yes

Module Inhibit - Analog Yes Yes Yes Yes Yes No No

Overvoltage/Overcurrent protection Yes Yes Yes Yes Yes Yes Yes

Minimum load required No No No No No No No

Slots occupied in any iVS case 1 2 3 4 1 1

* Note: Contact Factory for extended range down to 6V

Internal Part Number Reference Table

Part # Where X = Description Module Code
73-558-XXXXi 0005, 0006, 0012, 0024, 0048, 04XX iVS/IMP 1500 W Module 5A0 - 520

Dual

Liddaddaddddaddids

144 W 36 W

210 W

IO

1500 W (10 - 60 V) 1500 W with Bus Bar Adaptor Option
(used with the 10 - 60 V module)

360 W

‘%
W
" o




iVS Data Sheet

U D oo B oItage e
1 2 3 5 4 4 - - -
2V A 35A 60 A 150 A 300 A 10A 10A — — 2A 1.8-22
22V B 35A 60 A 150 A 300 A 10 A 10A — — 2A 20-24
3V C 35A 60 A 150 A 300 A 10A 10A — — 2A 2.7-33
3.3V D 35A 60 A 150 A 300 A 10A 10A — — 2A 3.0-3.6
5V E 35A 60 A 150 A 300 A 10A 10A — — 2A 45-55
5.2V F 35A 60 A 144 A 288 A 10A 10A = = 2A 4.7 -5.7
55V G 34 A 58 A 136 A 273 A 10 A 10A — — 2A 50-6.1
6.0V H 23 A 42 A 97.5A 250 A 10 A* 10 A* = = 2A 5.4-6.6
8.0V | 20 A 36 A 84.4 A 187.5 A 10 A 4 A 1A 1A 1A 7.2-8.8
10V J 18 A 32 A 75 A 140 A 10 A 4A 1A 1A 1A 9.0-11.0
11V K 17 A 31A 68 A 136.3 A 10A 4 A 1A 1A 1A 9.9-121
12V L 17 A 30 A 62.5 A 125 A 10 A 4A 1A 1A 1A 10.8 - 13.2
14V M 14 A 21 A 53.5A 107 A 9A 4 A 1A 1A 1A 12.6-154
15V N 14 A 20A 50 A 100 A 8A 4 A 1A 1A 1A 13.5-16.5
18V O 1A 19A 41.6 A 83.3A — — — 0.5A 0.5A 16.2 - 19.8
20V P 10.5 A 18 A 37.5A 75 A — — — 0.5A 05A 18.0 - 22.0
24V Q 85A 15A 30 A 62.5 A 4 A 2A — 0.5A 0.5A 21.6-26.4
28V R 6.7 A 1A 26.8 A 53.5A 3A 2A — 0.5A 0.5A 25.2-30.8
30V S 6.5A 11A 25A 50 A — — — — — 27.0 - 338.0
33V T 6.2 A 10.9A 22.7 A 35.8A — — — — — 29.7 - 36.3
36V U 58A 10A 20.8 A 35.8A — — — — — 32.4 - 39.6
42V \ 42 A 75A 16 A 35.7 A — — — — = 37.8-46.2
48V W 40A 75A 156 A 31.2A — — — — — 43.2 -52.8
54V X 3.7A 6.0A 13.9A 27.7 A = = = = = 48.6 - 59.4
60V Y 3.5A 6.0 A 12.5A 25A — — — — — 54.0 - 66.0
Special* z 35A 60 A 150 A 300 A — 10A 23-26
Special* Z 35A 60 A 150 A 300 A — 10A 3.7-4.4
Special* A 20A 36 A 80 A 140 A = 8A 6.7-7.1

* Note: Contact Factory for extended range down to 6 V.

** Increments of current not shown can be achieved by paralleling modules (add currents of each

module selected).

Case Size

iVS1

Case Size (mm)
1-Phase Input
1 =5"x5"x11", 1500 W - 3210 W, 9 Slots
(127 x 127 x 279.4 mm)
3 =5"x8"x 11", 1800 W - 4500 W, 14 Slots
(127 x 203.2 x 279.4 mm)
3-Phase Input
6 =5"x5"x11";, 3120 W, 9 Slots
(127 x 127 x 279.4)
8,8H=5"x8"x11"; 4920 W, 14 Slots
(127 x 203.2 x 279.4 mm)

Ordering Note:
1. USB to I°C module order code 73-769-001

*** Total output power on dual model must not exceed 144 W.

****For single output modules only.

Green reference lines indicate physical module groupings

Ordering Information

Sample below is 3210 W case with 12V @ 125 A; 24V @ 8.5 A; 5V @60 A; 12V @ 10 Aand 12V @ 4 A; with no options.

Module/Voltage/Option Codes
First - Module Code
Second - Voltage Code
Third - Option Code

5L1 - 1Q1 - 2EO - 4LLO

Module Codes:

(None) = 36 W triple O/P (1 slot)

1 =210 W single O/P (1 slot)

2 =360 W single O/P (2 slot)

3 =750 W single O/P (3 slot)

5 = 1500 W single O/P (slot 4)

4 =144 W dual O/P (1 slot)

HUP = Extra 30mS hold-up (1 slot)
Voltage Codes:

See Output Module Voltage/Current table
Option Codes:

0 = Standard

1 = Module enable

2 = Constant current

3 =1 &2 combined

4 = Set for use in standard (non-intelligent case)
5 = Shutdown mode for 1500 W

6 =1 &5 combined

7-9 Future

Case Option Codes

00
First Digit

0-9, A-Z Parallel code
(See parallel codes table below)
Second Digit

0 = No options

1 = Reverse air

2 = Not used

3 = Global enable

4 = Fan Idle w/inhibit
5=0pt1+Opt3
6=0pt1+Opt4
7=0pt3+Opt 4
8=0pt1+3+4

9 = RS485 73-544-001
B =USB 73-546-001
C=9+3

D = CANBUS 73-544-004
E=D+3
F = RS485 - MODBUS 73-544-005

Software Code

- A
Software code used
for configuration
change. “A” is
standard

Hardware Code

Hit#

Factory assembled
for hardware of
firmware mods.




iVS Data Sheet

Ordering Information

1 1&2 AC| 9 76| 210210; 210 144; 144 144 AC [14]13[12|11(10| 9 || 210 210; 210 144; 144 144
5 Pan 8[7]6]s]4]3]2=m
2 2&3 AC| 9[8]7]6 || 360 360; 360 210; 360 144; + above AC [1413[12|11]10] 9 || 360 360; 360 210; 360 144; + above
514321 BEBHOEE
3 3&4 ACI9[8[7]6]| 750 360; 750 210; 750 144; 210 210; AC |14]13[12[11]10] 9 || 750 750; 750 360; 750 210; 750 144;
5|4==8 2|1 210144;144 144 8[7]6]5|«ka|2]1]| 210210; 210 144; 144 144
4 485 ac[sTa[7]'e]| 1500 210; 1500 144 210.210; 210 144; | [ Tfia[ralia[3]| 1500 1500; 1500 750; 1500 360; 1500 210;
ceem | 3| 2 | 7 || 144 144,360 210; 360 144 8]7 6| o 321 1500 144; 210 210; 210 144; 144 144; 360 360;
360 210; 360 144
5 3,4,&5 AC| 9|8 |7]|6]| 750210210; 750 210 144; 750 144 AC |14|13[12|11]10] 9 || 750210 210; 750 210 144; 750 144 144
s (2] 1] 144 8] 7] 6] oot | 2] 1
6 iVS1,6:4 &6 ACI9 (87 1500 1500; 1500 750
5|« 21
7 4,5,&6 AC| 9[8[ 2 || 1500210 210; 1500 210 144; AC |14[13[12{11]10] 9 | | 1500 210 210; 1500 210 144; 1500 144 144
13|21 1500 144 144; 1500 210 1500 8] 7| euimpet [3]2]1
8 iVS1,6:3&6 ACl9 (87 750750 AC |14[13[12[11]10/8 | | 1500 1500 1500; 1500 1500 750; 1500 1500 360;
iVS3,8:4,5,&9 s|la[ 2 ]s 8]7] 6] shatTT2[1]| 1500 1500 210; 1500 1500 144
9 IV51,6:1&6 ACl9[8[7]¢]l 1500 1500; 1500 360; 1500 144 AC |14[1ak2(11]10L8 | | 1500 1500 1500 360; 1500 1500 1500 210;
iVS3,8:4,56&9;12&13 s|als]2]1 8] 7] 6| sPTT2[1]| 1500 1500 1500 144
A iV51,6:3&4;88&9 AC| 98 6 || 750210 & 750 210 AC [14]13| W 1(10] 9 | | 1500 1500 & 750 750
VS3,8:4 &5;,11&12 5| gmms | 2 (1 8[7]6] s ]3]2]
C iVS1,6: 3,4 &6 AC| 9|8 | Ze®|| 750, 360, 750 AC [14]13]1]10] 9 | | 750 750 360 750 750
IVS3,8:6&7;3,4,11&12 ||5|41#T2]1 8] 7| 5[« |2]
E iV51,6:3,4,6;88&9 AC| 9=m8 | 7 || 750, 360, 750, 210 AC [14[13[121{10] 9 | | 750 750 750 750
vS3,8:3,4,11,&12 5| a2 |1 8[7]6]s| 2]
F iVS1,6: 7-8 AC| 9 | 896 || 360, 360 AC [14[13[m1[10| 9 | | 750 360 & 750 210; 750 750 & 750 750
IVS3,8:3&4;11&12 504|3]2]1 8[7]6]5]ap3]2
G iVS3,8:3,4&9 AC 14]13[12[11)19¢9 | | 750 750 750
8][7]6]s[«eA2]1
H iVS3, 8:11 & 12 AC |14[13[121)10{ 9 || 750 750
8] 7]e[s[4]3]2]1
J iVS3,8:4&5;9&10 AC |14[131211]16 | | 1500 210 & 210 1500
8[7]6] st [3]2]1
K iVS3,8:1&9;5&12 AC [14]13[J2]11[10{ § 1| 1500 750 & 1500 750
87]6[]4]3]2]"
L iVS3,8:3&4;7&8;9&10 AC_|14]13[12/11)18ed | | 750 210 & 750 210 & 210 1500
a7 | 6] 5| 43|21
M iVS3,8:3,48&9;6 &7 AC |14]1312|11 102 750 750 360 750
8 [ 7mpeb | 5 [ 42 [ 1
N iVS3,8:4,568&9; 12,13 & 14 AC |1 11678 || 1500, 1500, 1500, 210, 210
8] 7] 6]adsf3] 2]
P iVS3,8:1&9 AC |14]13[12|11]10] § || 1500, 750
87]e]s[4]3]2]["
- - -




iVS Data Sheet

iVS Case Specifications

iVS1 and iVS6

Input
@‘@g S s s s 90 - 264 Vac 170 - 264 Vac
oL CL) g g CL) iV81 = 5"x5"x 11" 1500 W max. 3210 W max.
S I I (127 x 127 x 279.4 mm)
D°D§ o s 7| s 9 available slots
i e I iVS6 = 5" x 5" x 11" N/A 170 - 264 Vac
oll o ol o] o (127 x 127 x 279.4 mm) 3210 W max.
T TT T 9 available slots
i P I 3-phase only
iVS3, iVS8 and iVS8H Input
90 - 264 Vac 170 - 264 Vac
— = iVS3 = 5"x8"x11” 1800 W max. 4500 W max.
LR N N I I (127 x 203.2 x 279.4 mm)
° M o ||o ofo oo 14 available slots
q : o T T T T T
710 Rl S I A R N/A 170 - 264 Vac
s s| s|s s | s | s| s VS8 = 5" x8"x11” 4920 W max.
S (L) g CL) g CL) g g (127 x 203.2 x 279.4 mm)
Bl (R (R SO (R e e 14 available slots
8 7 6 5 4 3 2 1
s ———— - N/A 380 Vac
iVS8H = 5" x 8" x 11” 440 Vac
(127 x 203.2 x 279.4 mm) 4920 W max.

14 available slots

Pin Connectors

Figure 1. AC Input Figure 2. Connector J1
! @1 Pin Function ] m s Pin | Function
j zz 1 AC neutral Line 1 s 10 1 | Input AC OK - “emitter”
. . 2 Input AC OK - “collector”
AC line (hot Line 2
4 S Chassi (( )r‘[h) e d 3 Global DC OK - “emitter”
assis (eal ine G »
iVS1, iVS3 iVS6 ground maTeS vggh oo 451 Slobal DC OK - “collector
- olex 90142-0010 Housing pare
4 Not used Chassis (earth :
O L3 L2 U - (earth) 90119-2110 Pin 6 | Global inhibit/optional enable logic “0”
[@:@:@:@] Connector Kit Part No.: 7 Global inhibit/optional enable logic “1
TR I 70-841-004 8 Global inhibit/optional enable return
) ] 9 +5 VSB housekeeping
VS8, iVS8H 10 | +5 VSB housekeeping return
Figure 3. Connector J2
= = Pin | Function
Ve @ @ a a Le :
1 No connection
5 E B K o @ ]=1 5
2 No connection
3 No connection
Mates with 4 Ser!al clock ‘S|gnal (SCL)
Landwin 2050S1000 Housing | & | Serial data signal (SDA)
2053T011V Pin 6 Address bit 0 (A0)
or 7 Address bit 1 (A1)
JST PHDR-10VS Housing 8 | Address bit 2 (A2)
JST SPHD-002T-P0.5 (28-24) 9 Secondary return (GND)
JST SPHD-001T-P0.5 (26-22) 10 | 5 VCC external bus (5 VCC bus)

Connector Kit Part No.:
70-841-023




iVS Data Sheet

Mechanical Drawings |

Mechanical Drawings

iIMP Modules Single 210 Watt i
o
DC-DC Converter Output Modules = e
Pin No. | Function i_c\
1 + Remote Sense single or dual o/p main 515 == M4X5 SCREWS
2 Remote Margin / V. Program single o/p !ﬁ&
V-
3 Margin High single o/p N 0
4 - Remote Sense / Margin Low single or dual o/p main &g R ‘3 T~V ADJ
5) Spare yF . 1 m
6 Module, Isolated Inhibit single or dual o/p .
7 Module Inhibit Return single or dual o/p DC QUTPUT CONNECTOR
8 Current Share (SWP) single or dual o/p main (.221)
9 + Remote Sense V2 dual o/p, single is spare .
10 - Remote Sense V2 dual o/p, single is spare Single 360 Watt . .
* Note: All iMP modules have a green DCOK LED. (except for 36 W module) %l 60
]
| i M 4 X 8 SCREWS
Figure 4. Connector J1 = 2 m;HCEgN‘CAL
o o ® .

85.2)

Mates with
1 5 Molex 90142-0010 Housing
6 10 90119-2110 Pin

1.38"

l V ADJ
*v DC OUTPUT
CONNECTOR
Single 750 Watt Single 1500 Watt 2-8 V Single 1500 Watt 10-60 V
(%%é(ﬂ)) Ve fe— 59.3+0.2 —= la— 59302
DETAIL A
\ I1.3£0.8 —={(3x)31.6 +0.8 |=—
L;jﬁm 11.3 0.8 —aml f—— (3X)15.6+0.2
8.1£0.8 T
* |
e Vd i || 8.1%08 T“Mm_:i b‘fﬂ.llwllle =] o ‘5‘0 "
s Ry '
;é o 62.54+0.8 R/ L 1
@ & DG OUTPUT CONNECTOX i L 2% ‘SVD 202
ol T NEGAT I VE—U p PIN 1 E (2x) 16.0 £0.2
— 1 © !I
ke L A 3 - woscrenew
s ;:2; 5/ 16-18UNC =]
V- |\ e ) | HEX FLANGE
V ADJ M4X8 SCREWS I 1 SCREWS
PIN 1 @)
16.44£0.8
DC OUTPUT v
CONNECTOR —=126.54+0. 5=
Vi
Dual 144 Watt Triple 36 Watt
46(11.7) Vi+ R0
(4% (SEE NOTE )
Vi- VR10?2 vis|m
ﬁ /(355 NOTE 7) vl
il ggRes
= ] v lm
= e V3+|®@
fs0rs@0 1 L.
T qESEATeT M3X8 SCREWS WITH SPRING WASHER - lm
(4X) —ﬁ VRI103
117 29.7) /[SEE NOTE 7)
J SN vz Dy 21.3 REF. | -
A i Molex 09-91-0600 Housing
L V1 ADJ | 26-60-5060 Pin
32 —
8.1)

PIN 1



iVS Data Sheet

iVS1 (1500/3210 Watts Max) 5-Inch Case Size: iVS1: 5” x 5” x 11”7 (127 mm x 127 mm x 279.4 mm)

Weight: iVS1 Case: 6.2 Ibs. ® 1500 W Single: 2.0 Ibs. ® 750 W Single: 1.6 Ibs.
e 360 W Single: 1.0 Ib. ¢ 210 W Single: 0.6 Ib. ® 144 W Dual: 0.6 Ib.

REVERSE AIRFLOW DIRECTION
NORMAL AIRFLOW DIRECTION
127.0+0.5
[EH
8 279.40 £ 1.27 127.0£05
- 63..
ACINPUT _ | ! F &
CONNECTOR e el 2@ —® T
L— ﬁ S L) [ F F | FAN
L L i 92 X 92 X 3% mm
N—] H o ol ! 0
PE— ‘g \T ! ®
O
‘ \ Ffo
| 127.0+09 Fo i ® ) [ 127.0+09
| 101,609
USB PROGRAMMING
L h b i I_LO . @‘ _ [CONNECTOR OPTION|
[ | s @ SELV CONTROL_| ees
T T_ ¢ y CONNECTOR c & f
é)f fffffffffffffffff — g rc _|
— - 2 | ﬁ&\ CONNECTOR s 16
— — oo o
OUTPUT MODULE/T - ! {191 ‘ 171.5 ‘ M4 MTG HOLES 4 PL *13.5\‘ R B P !
AREA 335 2
fe—57.4—]
“MOUNTING HOLES DIMENSIONS IDENTICAL ON BOTH SIDES”
171.45
29.05
—j [~-5.00
T )
12.70 °
16500 ©e 00 @
%
114.30
%
%
©
4%,
\% :’) © o Q0 _ O
e 171.4
2280 100
Notes:

1. Input: Barrier type. Three No. 6-32 B.H. screws (0.375” centers). Max torque: 6 in-Ibs. (0.67 N-m).

2. Control connectors: (J1) 10 position housing, gold plated contacts. Mates with Molex 90142-0010 housing with 90119-2110 crimp contacts (Molex C - Grid Ill Series). Connector kit includes
mating connector and 10 pins, Astec part #70-841-004. (J2) 10 position housing (Landwin 2051P1000T). Mates with housing 205051000 (Landwin) with 2053T011P (Landwin) pins.

. Chassis material: aluminum with chemical film coating (conductive).
. All dimensions are in millimeters and inches, and are typical.
. Customer mounting -3 sides M4, bottom also includes 8-32 mounting holes. Max. penetration is 0.155” (4.0 mm). Max. torque: 5 in-Ibs. (0.57 N-m).

. Output module connections: All single O/P modules are M4 x 8 mm screws. Max. torque: 10 in-Ibs. (1.13 N-m).
Dual O/P module is M3 x 8 mm screws. Max. torque: 5 in-Ibs. (0.57 N-m).

D o B W

w

N,
4

3




iVS Data Sheet

iVS3 (1800/4500 Watts Max) 8-Inch Case Size: IVS3: 5" x 8" x 11” (127 mm x 203.2 mm x 279.4 mm)

Weight: iVS3 Case: 9.0 Ibs. ® 1500 W Single 2.0 Ibs.e 750 W Single: 1.6 Ibs.
e 360 W Single: 1.0 Ib. ® 210 W Single: 0.6 Ib. ®144 W Dual: 0.6 Ib.

REVERSE AIRFLOW DIRECTION
NORMAL AIRFLOW DIRECTION e
203.2:05
e}
SISO 279.421.27 6
PURIPS P P P S, o
S8 88 5
I e S
B
& ol Y |
2 B
R 3| o 3
pi I e
2 | ° sarmocmmane |
OUTPUT MODULE o o o % CONNECTOR OPTION d
e s ‘ @ SELV CONTROL __o o
“ o CONNECTOR S‘
' B e — ) 2 P 2 T
P PO
EAE A I 17145 TG HOLES £ L cokLeD
A
19.1
a1
“MOUNTING HOLES DIMENSIONS IDENTICAL ON BOTH SIDES
#8-32 MTG HOLES
5PL
< MabeceD ¢
= 29.1 1716 6.7 REF, H T
& °° sl @
ol © ° TE x ]
°©i i o) | i =
< °©i i ® ! I
3
EEINNE N 5
= ©‘ | © " @ N
e || e 7
Og ' !
©‘ | © L
°©i i © [
.
9g LA ® ! !@
RIEY © @ [ A‘
®
162 =
M4 MTG
19.1 171.5 HOLES

5PL
MARKED “B"

Notes:
1. Input: Barrier type. Three M4 screws (0.512” centers). Max torque: 7 in-Ibs. (0.79 N-m).

2. Control connectors: (J1) 10 position housing, gold plated contacts. Mates with Molex 90142-0010 housing with 90119-2110 crimp contacts (Molex C - Grid Ill Series). Connector kit includes
mating connector and 10 pins, Astec part #70-841-004. (J2) 10 position housing (Landwin 2051P1000T). Mates with housing 205051000 (Landwin) with 2053T011P (Landwin) pins.

. Chassis material: aluminum with chemical film coating (conductive).
. All dimensions are in millimeters and inches, and are typical.
. Customer mounting -3 sides M4, bottom also includes 8-32 mounting holes. Max. penetration is 0.155” (4.0 mm). Max. torque: 5 in-Ibs. (0.57 N-m).

. Output module connections: All single O/P modules are M4 x 8 mm screws. Max. torque: 10 in-Ibs. (1.13 N-m).
Dual O/P module is M3 x 8 mm screws. Max. torque: 5 in-Ibs. (0.57 N-m).

D o B W

w

N,
4

3




iVS Data Sheet

iVS6 (3210 Watts Max) 5-Inch Case Size: iVS6: 5" x 5”7 x 11”7 (127 mm x 127 mm x 279.4 mm)

Weight: iVS6 Case: 6.0 Ibs. ® 1500 W Single 2.0 Ibs. ® 750 W Single: 1.6 Ibs.
e 360 W Single: 1.0 Ib. ¢ 210 W Single: 0.6 Ib. ® 144 W Dual: 0.6 Ib.

279.4+1.0
5.0£0.5
@ ° ®
NORMAL AIRFLOW DIRECTION
[©)
REVERSE AIRFLOW DIRECTION 5 ®
®
° @ ©
©o)
293.0£1.2
127.0+0.5 AC INPL
_L_‘ CCONNECTOR
] &b Z¢
\ | < ~
g © | “Elell b
. ° i L 3
R N & | 2 z
© 1 e oJ
®
neston ] LN — ] P A | -

127 (2
1272

19.1 (2x] 171.5 (2X) (FOR SYSTEM MOUNTING)

191

I
=

’ o
C CONNEC- LED N
se oo [ p—
. v 135 | - LED (FOR SYSTEM MOUNTING) 171.5 (2X)
57.4

1715 2%

19.1 (2

12.7 (4%)

FOR M4 SCREW (4X)
(FOR SYSTEM MOUNTING)

1715 2% 201 2%

12.7 4R

Notes:
1. Input: Barrier type. Four M3 screws (0.325” centers). Max torque: 6 in-Ibs. (0.67 N-m).

2. Control connectors: (J1) 10 position housing, gold plated contacts. Mates with Molex 90142-0010 housing with 90119-2110 crimp contacts (Molex C - Grid IIl Series).
Connector kit includes mating connector and 10 pins, Astec part #70-841-004. (J2) 10 position housing (Landwin 2051P1000T). Mates with housing 205051000 (Landwin) with

2053T011P (Landwin) pins.
. Chassis material: aluminum with chemical film coating (conductive).
. All dimensions are in millimeters and inches, and are typical.
. Customer mounting -3 sides M4, bottom also includes 8-32 mounting holes. Max. penetration is 0.155” (4.0 mm). Max. torque: 5 in-Ibs. (0.57 N-m).

. Output module connections: All single O/P modules are M4 x 8 mm screws. Max. torque: 10 in-Ibs. (1.13 N-m).
Dual 0/P module is M3 x 8 mm screws. Max. torque: 5 in-Ibs. (0.57 N-m).

oD O AW




iVS Data Sheet

VS8 (4920 Watts Max) 8-Inch Case Size: iVS8: 5" x 8" x 11”7 (127 mm x 203.2 mm x 279.4 mm)

IVS8H (4920 Watts Max) Weight: VS8 Case: 9.0 Ibs. ® 1500 W Single 2.0 Ibs. ® 750 W Single: 1.6 Ibs.
e 360 W Single: 1.0 Ib. ¢ 210 W Single: 0.6 Ib. ® 144 W Dual: 0.6 Ib.

6.8 max
)
@
o ©
®
®
%) ®
NORMAL AIRFLOW DIRECTION be P °
= ®
REVERSE AIRFLOW DIRECTION o ©
@
] @
203.2:0.2
291.1+1.2
155.6 AC Input 8 s 0 o
279.4+02 Comeier E § 5 & 5
[ &2 ~ 4 -
| AN J 9l |
b P ! ! ’t: < Terminal 2l | q ! !
3 o | ® o 9 &2 S lo ‘
=] =] & L ~|2 =] N | |
9 ® of o & SR ‘
2l ® e .
—|© S o Ao o
p— é e
crmeseroeten 191 (2%) 191@9 || 1715 %) |
MOSYTEM Mounting 171.5 (2x)
126 Connestor—} for M4 Screw (13%) ()
SELV Control =
Commocor =318 L g
50.7 N 171.5 (2%) zlz
72.1 - 791 34 o
S|s
® P ® 1l B
'>‘ ‘ ° ® Racy
O ® Jﬁ%
! o e
e N
@ [
I ® | \
i I
g I o | @
2 | bl
&
g ¥ ° I
. ol ® P
) 4 ° DA
20.1(3%)
MOSYTEM Mounting for
43:02 Seow (59 () 1715 @)

Notes:
1. Input: Barrier type. Three M3.5 screws (0.394” centers). Max torque: 6 in-Ibs. (0.67 N-m).

2. Control connectors: (J1) 10 position housing, gold plated contacts. Mates with Molex 90142-0010 housing with 90119-2110 crimp contacts (Molex C - Grid lll Series).
Connector kit includes mating connector and 10 pins, Astec part #70-841-004. (J2) 10 position housing (Landwin 2051P1000T). Mates with housing 2050S1000 (Landwin) with
2053T011P (Landwin) pins.

. Chassis material: aluminum with chemical film coating (conductive).
. All dimensions are in millimeters and inches, and are typical.
. Customer mounting -3 sides M4, bottom also includes 8-32 mounting holes. Max. penetration is 0.155” (4.0 mm). Max. torque: 5 in-Ibs. (0.57 N-m).

D O B W

. Output module connections: All single O/P modules are M4 x 8 mm screws. Max. torque: 10 in-Ibs. (1.13 N-m).
Dual O/P module is M3 x 8 mm screws. Max. torque: 5 in-Ibs. (0.57 N-m).

w
N,
.
4
3




iVS Data Sheet

Optional CANBUS or RS485 Interface

The RS485/CAN-to-1°C uses 2 Input Protocols and 1
Output Protocol.

Slave/Server Device(s)

The Input Protocols used are RS485 using Modbus
(Command Index: 0x01), and CAN using modified Modus
(Command Index: 0x02). Output Protocols

Adapter

[°C with SMBus
Support

y

The Output Protocol use is: I°C with SMBus support
(Command Index: 0x80).

Adapter Protocol

Adapter Command Adapter Controls

Input Protocols

RS485 using
Modbus

CAN using
Modified Modbus

A

RS485/CAN - to - I’C

For detailed info, download the Software Requirements
Specification (SRS) from http://www.artesyn.com/
power/power-supplies/category.php?catlD=103

iVS CAN RS485 iVS I)C USB
WORLDWIDE OFFICES
i : A " IEEESNSAT
Americas Europe (UK) Asia (HK) — e A == =
2900 South Diablo Way Ground Floor Offices, Barberry House 14/F, Lu Plaza
Suite B100 4 Harbour Buildings, Waterfront West 2 Wing Yip Street
Tempe, AZ 85282, USA Brierley Hill, West Midlands Kwun Tong, Kowloon An Ad van Ced E ne rgy Com pa ny
+1888 4127832 DY5 1LN, UK Hong Kong
+44 (0) 1384 842 211 +852 2176 3333 www.artesyn.com
Artesyn Embedded Technologies, Artesyn Embedded Power, Artesyn, and all Artesyn related logos are For more information: www.artesyn.com

trademarks and service marks of Artesyn Embedded Technologies, Inc. All other names and logos referred to
are trade names, trademarks, or registered trademarks of their respective owners. Specifications are subject to
change without notice. © 2020 Artesyn Embedded Technologies, Inc. All rights reserved. For full legal terms
and conditions, please visit www.artesyn.com/legal.

For support: productsupport.ep@artesyn.com

iVS DS 09Jun2020


www.artesyn.com
mailto:productsupport.ep@artesyn.com
www.artesyn.com
http://www.artesyn.com/power/power-supplies/category.php?catID=103
http://www.artesyn.com/power/power-supplies/category.php?catID=103

@Iasﬂ U

KomnaHus ((3J'IeKTpO|_|J'|aCT» npeanaraeT 3akKn4vyeHmne onrocpoYHbIX OTHOLLIEHUN npu
NOoCTaBKaxX MMMNOPTHbIX 3NTEKTPOHHbIX KOMMOHEHTOB Ha B3aMMOBbLIFO4HbIX yCJ'IOBI/lFlX!

Hawwn npeumyuiectsa:

e OnepaTuBHbIE NOCTABKM LUMPOKOrO CMeKTpa 3NeKTPOHHbIX KOMMNOHEHTOB OTEYECTBEHHOIO U
MMMOPTHOrO NPON3BOACTBA HANPAMYO OT MPOM3BOAMTENEN U C KPYNMHENLLNX MUPOBbLIX
CKNaaos.;

MocTaBka 6onee 17-TM MUNIIMOHOB HAMMEHOBAHWUIN 3NEKTPOHHbLIX KOMMNOHEHTOB;

MocTaBka CNoXHbIX, AeULNTHBIX, MMOO CHATLIX C MPOM3BOACTBA NO3ULIUIA;

OnepaTtunBHbIE CPOKM NOCTABKM Nof 3aka3 (0T 5 pabounx gHewn);

OKcnpecc goctaska B Nnobyto Touky Poccuu;

TexHnyeckas nogaepkka npoekTa, NomMoLLlb B nogdope aHanoros, NocTaBka NPOTOTUMOB;

Cuctema MeHeXMeHTa KavyecTBa cepTuduumnposaHa no MexayHapogHomy ctaHgapTty 1ISO

9001;

o JlnueHausa ®CH Ha ocyulecTBneHne paboT ¢ NCNONb30BaHWEM CBEOEHUIN, COCTABAOLLINX
rocygapCTBEHHYIO TalHy;

o [locTaBka cneumnanmampoBaHHbIX KOMNoHeHToB (Xilinx, Altera, Analog Devices, Intersil,
Interpoint, Microsemi, Aeroflex, Peregrine, Syfer, Eurofarad, Texas Instrument, Miteq,
Cobham, E2V, MA-COM, Hittite, Mini-Circuits,General Dynamics v gp.);

MoMMMO 3TOro, O4HMM M3 HanpaBnNeHU koMnaHum «AnekTpollnacT» ABNseTca HanpaBneHne

«UcTouHmkn nutaHua». Mel npeanaraem Bam nomoub KoHCTpyKTOpCKOro otaena:

e [logGop onTuManeHOro peleHus, TexHn4eckoe 060CHOBaHME Npu BbIOOpPE KOMMOHEHTA;
Monbop aHanoros.;
KoHcynbTaumm no NpUMEHEHMIO KOMMOHEHTA;
MocTaBka 06pa3yoB M NPOTOTUMNOB;
TexHn4veckasn noaaepka npoekTa;
3awmTa OT CHATMSA KOMMOHEHTA C NPON3BOACTBA.

Kak c Hamu cBfizaTbCcA

TenedoH: 8 (812) 309 58 32 (MHOrokaHanbHbIN)
Pakc: 8 (812) 320-02-42

OnekTpoHHas nouTta: org@eplastl.ru

Aapec: 198099, r. Cankt-INeTepbypr, yn. KannHuHa,
Oom 2, kopnyc 4, nutepa A.



mailto:org@eplast1.ru

